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(a) “Stock Exchanges play an important role in the
Indian stock market”. Comment. (5)

(b) The return on security X and Y under four possible
States of condition are given below:

States of condition | Probability | Return of X (%) | Return of Y (%)
Recession 02 -8 -6
Average 04 9 10
Good 03 14 18
Boom 01 18 28
Find.

(i) Expected return on security Xand Y
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OR (ii) Risk on security X and Y
(a) What do you mean by. Investor Protection. Explain (iii) Can it be concluded that security X is more
i i ?
the role of SEBI in this regard. (5) risky than security Y7

(iv) Calculate the coefficient of correlation

(b) A Mutual fund accumulated Rs. 20,00,000 by between X and Y? : (10)
issuing 2,00,000 unit in the beginning of a financial '

yéar. It invested Rs. 18,00,000 in the corporate OR

securities whose present price and the price at (a) Discuss any two :

which mutual fund invested is given alongwith the

return generated to the mutual fund from these ) Bengex aud ity

securities. ' _ _ (ii) Depository System

Investment Value at Value at Income = ; (iii) No investment is risk free (5)

the beginning the end _ ;
il i (b) Mr X invests Rs. 450 in a corporate bond (Face

Equity 7,00,000 850,000 1,20,000 Value Rs. 500) selling for Rs 450.In the coming
year, the bond will pay interest of Rs. 25. The
Debenture 9,00,000 9,25000  1,05,000 price of bond at year’s end will depend on the
_ ' level of interest rates prevailing at that time The
Govt. Security 2,00,000 2,05000 15,000 following scenario is expected.
e L I L Y d -
The mutual fund incurred an expense of Rs. 75,000 oo tuins Fidbamiy it i
. . : High 0°3 425
during the year. Find the NAV of the mutual fund
Unchanged 04 445
at the end of the year. (10)
i : Low 0-3 475
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Treasuray-BiIis provide a sure rate of return of
4%. Calculate the HPR and expected rate of return
and risk premium on investment. (10)
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Portfolios Expected Risk (Standard
Return Deviation)
30% 28%
B 22% 21%
‘ 20% 14%

g W aaEn W ? f aer gueiE i Sifew qe

Hafer W Red s 19% 3R 10% 21 AR FEwiw

& A e 14% 31 Ao F R W A
. OEwIfer s 3R a2

5. (a) What do you mean by “Security ombudsman?
Under what circumstances an investor can lodge

a complaint with security ombudsman? - (5)

(b) An investor purchase two month call option of
100 shares PICKO Ltd. At a strike price of Rs. 40
per share on paying a premium of Rs. 3 per share.
Find his expected gain or loss per share and also
the total gain and loss if the actual price of the
stock on the exercise date is Rs. 30, Rs. 35, Rs. 43,
Rs. 45, And Rs. 50. Also-show graphically.

(10)
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risk free asset is 19% and 10% respectively. The
standard deviation of market index is 14%. Which

of the portfolio are efficient and inefficient on the
basis of CML. (10)
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(a) State the various properties of bond value
described by Malkiel. (5)

(b) The following information is available in respect
of a bond :

Face Value — Rs. 2000
Coupon Rate - 8%
Time to Maturity — 10 Years

Market Price Rs. 2280

=}

Callable in 8 years - Rs 2200

Find out YTM and YTC of the bond. (10)
OR

(a) Discuss various kind of risks involved in bond

investment. (5)

(b) A company has invited applications for issue of
bonds of the face value of Rs. 1000 redeemable
after a period of 6 years at 10% premium, with
variable coupon rates as; 9% for first two years;
10% for next two years and 11% for remaining

two years. The company proposes to price the

660 11
'Economic Probability ~ Return on
conditions Shares (%)
ALtd B Ld.
Expansion 0.2 40 35
Boom 0.3 31 40
Recession 0.3 21 12
Depression 0.2 15 13

What shall be risk and return of the portfolio if

total investment is divided equally in each.
i ; (10)
OR

(a) Mutual funds is an indirect investment. Comment.

(5)

(b) Given following information :

Portfolios Expected Risk (Standard
| Return Deviation)
A 30% 28%
- 22% 21%
o 20% : 14%

It is further given that return on market index and

P.LAD.
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4. (a) Differentiate between Security market Line and

(b)

Capital Market Line. ' (5)

An investor wants to invest in two shares, which
have different rates of return but same probabilities

for set of return.
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issue so as to yield a compound return of 12%
p.a. to the investors.Determine the issue price of
the Bond. : : (10)
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(a)

(b)

(a)
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“The best way to evaluate equity share is that
based on Dividends”. Examine this statement. How
would you value the shares on which no dividend
is paid? (5)

A firm has paid dividend at Rs.12 per share last
year. The estimated growth of the dividends from
the company is estimated to be 5% pa. Determine
the estimated market price of the equity share if
the estimated growth of the dividend (i) rises to
8% and (ii) falls to 3%. Also find out the present
market price of the share, given that the required
rate of return of the equity investor is 16.5%.

(10)
OR :
“A technical analysts places too much of erﬁphasis

on the past and present level of prices and demand

and supply”. Critically examine. (5)

660

(b)
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A Company has been growing at a rate of 18%
per year in recent years. The abnormal growth is
expected to continue for another 4 years, then it
is likely to grow at the normal rate of 6% p.a.
The required rate of return on the shares of the
investment community is 12%, and the dividend
paid per share last year was R§.3. At what price,
would you, as an investor, be ready to buy the
shares of this company now, and at the end of the
year 4. (10)
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